# **Townhouse in Senglea**



Reference No: 240151012-1799

#### Senglea, South



€540,000

Total Rooms: 7

Bathrooms: 1

Floor Area (m<sup>2</sup>): **130** 

Bedrooms: 3

# Townhouse - For Sale - Senglea

SENGLEA - 3 Bedroom Converted Townhouse. Property consists of an entrance hall and a sitting area at ground floor level, 2 cellars at underground level, On the first floor ones finds a kitchen / living & dining, two Double Bedrooms on the second floor and another double bedroom at the 3rd Floor (roof level) access to the roof from the 3rd floor level. Free Hold.

## **Features**

- Walk in Wardrobe
- Air Space

Entrance Hall

### Rooms

- ✓ Sitting: 3.9 x 2.82 m (11 m2)
- ✓ Walk In Wardrobe : 4.05 x 1.8 m (7.29 m2)
- Kitchen/Living/Dining: 5.53 x 3.7 m (20.46 m2)
- ✓ Double Bedroom : 4.7 x 3 m (14.1 m2)
- ✓ Double Bedroom : 4.1 x 2.9 m (11.89 m2)
- ✓ Double Bedroom : 4.05 x 3.7 m (14.99 m2)
- ✓ Bathroom : 4 x 2.8 m (11.2 m2)

# **Gallery**







































RE/MAX Edge - Attard RE/MAX Edge - Attard

M: 21480164

E: attard@remax.com.mt

T: 21480164

#### RE/MAX Edge - Attard

4Triq Antonio Schembri, Attard, Malta